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| radius, while the number of turns

i

reunchanged.

Calculate the new inductance
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[ Question 4
A long solenold with a circular Cross el s . ;
section of radius (r,-0-05m) and " C""-r,u %w .
(n=800turns/m) Is inside and coaxial e Jald ppigs (:-'go'nsrn :
with a short coil that has a circular ey °0tum. y
cross section of radius (r, =0.10m) o7 U i *.:
and (N=7turns). While the current in e ¥ -h.-J (2 'O-IOm) "
the long solenoid is increased steadily ol el s L.n% (N"'ftun,.)
from (0.003A) to / over & ;o i g 4y
(0.6millisecond), the potential Bl J,Q'u 3A) ey, e
difference induced in the short coll & Al el (0.6) Ty o
i J'ﬂ-'-" Jlad, Sl

| n

[ H!hrf}m;,mmmu,r'{ Lol
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" Question Y [ el ‘\
"A long solenoid has a circular cross.- sl ()03 ea e pmia A1 Jagin alsh hle I'|

section of radius (9. 0cm), and length
(17.0em).The number of turns in one
meter for the solenoid is (3.2+10") and
it carries a current ((.5A).

GAll 2 .(17.0cm) Alghy (9.0cm) #lll

54 Janag (3.27107) aaigd ;-!v"‘“\
. (0.5A) gaka

b Al Al Al s -

— Calculate the magnatic energy stored wgadiah
in the solenoid.
Question 4 \ o

According to the figure below, the
number of the primary coil turns N, in
the transformer is hidden:

~Find the number of turns N..




waves with a wavelength of A2 11077 m) e

A- Calculate the frequancy of the electromagnetic wave.
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B— Find the number of electromagnetic waves produced in one hour?.
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circuit. The maximum charge on

the capacitor is (9.0uc).
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